N FHE (2025 F)
BEMNLEI Y —E RFEE s F i EBEY

EXAB TLATELIC SRR EXRT

20254 (B AM)
58 68 18 8A 98 108 18 128 18 28 38 48| &
FIAERAK 3N 3N 4N PN 7PN 5A 5N 5N 6A 6A 6A PN
I8 ﬁigﬂ,{ﬁgﬁ 11 11 11 11 11 11 11 11 11 11 11 11
é RS 0 0 33 33 44 44 44 55 55 55 66 66 495
A
HUXA 0 0 0 0 0 0 0 0 0 0 0 0 0
AEHA) 0 0 33 33 44 44 44 55 55 55 66 66 495
ANEE 0 37 37 37 37 37 37 37 37 37 37 37 407
RE XRE 1 1 1 1 1 1 1 1 1 1 1 1 12
X |ERERE 3 3 3 3 3 3 3 3 3 3 3 3 36
E BIEE 1 1 1 1 1 1 1 1 1 1 1 1 12
A |EREE 9 9 9 9 9 9 9 9 9 9 9 9 108
XiTEME 0 0 0 0 0 0 0 0 0 0 0 0 0
BEHB) 14 51 51 51 51 51 51 51 51 51 51 51 575
FMEEA—B) -14 -51 -18 -18 -7 -7 -7 4 4 4 15 15 -80

X BBIFEFMICREEHTHLLTE,
X BT, S —ERREBADE L AICRYRAENET,
(fl: 4 AH—ERRH . S AIZEKRL. 6 AIZRYAFEFNET )

X EREHEGE.AWKE. . EWMEER. MEE. ERLEE. MRAR. AR REM. LOALHE
fhEREABRELLE N, WXENTHREBYLGARTEH LL TS,

X ATEHFAEGAHEYD) DERFRUVERBMN (S—EXE) +ETOMEITONVTERHT S, )

ELRREN (537 B {3L)
1A%y 5370M/H x22H=118,140M




N FHE (20265 )
BEMNLEI Y —E RFEE s F i EBEY

EXAB TLATELIC SRR EXRT

20264 (B AM)
58 68 18 8A 98 108 18 128 18 28 38 48| &

FIAERAK 6A 6A 6A 6A 6A 6A 6A 6A 6A 6A 6A PN
I8 ﬁigﬂ,{ﬁgﬁ 12 12 12 12 12 12 12 12 12 12 12 12 144
é Lok e 66 66 72 72 72 72 72 72 72 72 72 72 852

A

HUXA 0 0 0 0 0 0 0 0 0 0 0 0 0
AEHA) 66 66 72 72 72 72 72 72 72 72 72 72 852
AGE 37 37 37 37 37 37 37 37 37 37 37 37 444
RE XRE 1 1 1 1 1 1 1 1 1 1 1 1 12
X |ERERE 3 3 3 3 3 3 3 3 3 3 3 3 36
E BIEE 1 1 1 1 1 1 1 1 1 1 1 1 12
A |EREE 9 9 9 9 9 9 9 9 9 9 9 9 108
XiTEME 0 0 0 0 0 0 0 0 0 0 0 0 0
BEHB) 51 51 51 51 51 51 51 51 51 51 51 51 612
F#E(A—B) 15 15 21 21 21 21 21 21 21 21 21 21 240

X BBIFEFMICREEHTHLLTE,
X BT, S —ERREBADE L AICRYRAENET,
(fl: 4 AH—ERRH . S AIZEKRL. 6 AIZRYAFEFNET )

X EREHEGE.AWKE. . EWMEER. MEE. ERLEE. MRAR. AR REM. LOALHE
fhEREABRELLE N, WXENTHREBYLGARTEH LL TS,

X ATEHFAEGAHEYD) DERFRUVERBMN (S—EXE) +ETOMEITONVTERHT S, )

ELRREN (584 B {3L)
1A%7-Y) 5840/ /H x22H =128,480M




N2 FHEE #H5=ET (2025%)

FEALEHILY —E R s H R EBE

FEE  TUATLOICEHERERI SR

(Bf7 : AF)

EEERONS At

ol

5H 6 H 7H 8 H 9H 10A 1148 12A 18 2A 38 4R &5t
FIAERIAE 3 A 3 A 4 A 4 A 4 A 5 A 5 A 5 A 6 A 6 A 6 A 6 A
é EREERNCRBUNA 2 5 5 6 6 8 9 9 10 10 10 10 90
A
&5H(A) 2 5 5 6 6 8 9 9 10 10 10 10 90
DERE 2 2 2 2 2 3 3 3 4 4 4 4 35
=
E = =E et
= (B2 -IT5%) 0 3 3 4 4 4 6 6 6 6 6 6 54
A
&5H(B) 2 5 5 6 6 7 9 9 10 10 10 10 89
FZE(A - B) 0 0 0 0 0 1 0 0 0 0 0 0 1

X HEEEBOABTIEICEHL TS0,




N2 FHEE #H5=ET (2025%)

FEALEHILY —E R s H R EBE

FEE  TUATLOICEHERERI SR

(Bf7 : AF)
EERBOANS | ATRREE
5H 68 78 8 H 9H 1048 114 124 18 28 38 42| &Gt

N FIRERAE 3 A 3 A 4 A 4 A 4 A 5A 5 A 5 A 6 A 6 A 6 A 6 A
é A EERENTRBUNA 1 3 3 3 3 5 5 5 5 5 5 5 48
A

&3H(A) 1 3 3 3 3 5 5 5 5 5 5 5 48

WERRE 1 1 1 1 1 2 2 2 2 2 2 2 19
=
E 4= A= £f
=] (B -IE5%) 0 2 2 2 2 2 3 3 3 3 3 3 28
A

&3H(B) 1 3 3 3 3 4 5 5 5 5 5 5 47

Fzm(A-B) 0 0 0 0 0 1 0 0 0 0 0 0 1

X HEEEBOABTIEICEHL TS0,




N2 FHEE #H5=ET (2025%)

FEALEHILY —E R s H R EBE

FEE  TUATLOICEHERERI SR

(Bf7 : AF)
EERBOANS |FINREE
5H 68 78 8 H 9H 1048 114 124 18 28 38 42| &Gt

N FIRERAE 3 A 3 A 4 A 4 A 4 A 5A 5 A 5 A 6 A 6 A 6 A 6 A
é A EERENTRBUNA 1 2 2 2 2 2 2136 2 2 2 2 2 59
A

&3t(A) 1 2 2 2 2 2 2 2 2 2 2 2 23

WERRE 1 1 1 1 1 1 1 1 1 1 1 1 12
=
E 4= A= £f
=] (B -IE5%) 0 1 1 1 1 1 1 1 1 1 1 1 11
A

S5E1(B) 1 2 2 2 2 2 2 2 2 2 2 2 23

Fzm(A-B) 0 0 0 0 0 0 0 0 0 0 0 0 0

X HEEEBOABTIEICEHL TS0,




N2 FHEE #H5=ET (2025%)

FEALEHILY —E R s H R EBE

FEE  TUATLOICEHERERI SR

(Bf7 : AF)
E£EFBONS |BiREA
5H 68 78 8 H 9H 1048 114 124 18 28 38 42| &Gt

N FIRERAE 3 A 3 A 4 A 4 A 4 A 5A 5 A 5 A 6 A 6 A 6 A 6 A
é A EERENTRBUNA 0 0 0 1 1 1 2 2 3 3 3 3 19
A

&3t(A) 0 0 0 1 1 1 2 2 3 3 3 3 19

WERRE 0 0 0 0 0 0 0 0 1 1 1 1 4
=
E 4= A= £f
=] (B -IE5%) 0 0 0 1 1 1 2 2 2 2 2 2 15
A

&31(B) 0 0 0 1 1 1 2 2 3 3 3 3 19

Fzm(A-B) 0 0 0 0 0 0 0 0 0 0 0 0 0

X HEEEBOABTIEICEHL TS0,




N2 FHE #H=ET (2026%F)

FEALEHILY —E R s H R EBE

FEE  TUATLOICEHERERI SR

(Bf7 : AF)
EEEBHONS  |Ast
5H 68 78 8 H 9H 1048 114 124 18 28 38 42| &Gt
FIRERAE 6 A 6 A 6 A 6 A 6 A 6 A 6 A 6 A 6 A 6 A 6 A 6 A
7
s N -
= A EERENTRBUNA 10 10 10 10 10 10 10 10 10 10 10 10 120
A
BET(A) 10 10 10 10 10 10 10 10 10 10 10 10 120
NEHRE 4 4 4 4 4 4 4 4 4 4 4 4 48
=
E 4= A= £f
=] (B -IE5%) 6 6 6 6 6 6 6 6 6 6 6 6 72
A
S5E1(B) 10 10 10 10 10 10 10 10 10 10 10 10 120
Fzm(A-B) 0 0 0 0 0 0 0 0 0 0 0 0 0

X HEEEBOABTIEICEHL TS0,




N2 FHE #H=ET (2026%F)

FEALEHILY —E R s H R EBE

FEE  TUATLOICEHERERI SR

(Bf7 : AF)
EERBOANS | ATRREE
5H 68 78 8 H 9H 1048 114 124 18 28 38 42| &Gt

N FIRERAE 6 A 6 A 6 A 6 A 6 A 6 A 6 A 6 A 6 A 6 A 6 A 6 A
é A EERENTRBUNA 5 5 5 5 5 5 5 5 5 5 5 5 60
A

BET(A) 5 5 5 5 5 5 5 5 5 5 5 5 60

WERRE 2 2 2 2 2 2 2 2 2 2 2 2 24
=
E 4= A= £f
=] (B -IE5%) 3 3 3 3 3 3 3 3 3 3 3 3 36
A

S5E1(B) 5 5 5 5 5 5 5 5 5 5 5 5 60

Fzm(A-B) 0 0 0 0 0 0 0 0 0 0 0 0 0

X HEEEBOABTIEICEHL TS0,




N2 FHE #H=ET (2026%F)

FEALEHILY —E R s H R EBE

FEE  TUATLOICEHERERI SR

(Bf7 : AF)
EERBOANS |FINREE
5H 68 78 8 H 9H 1048 114 124 18 28 38 42| &Gt

N FIRERAE 6 A 6 A 6 A 6 A 6 A 6 A 6 A 6 A 6 A 6 A 6 A 6 A
é A EERENTRBUNA 2 2 2 2 2 2 2 2 2 2 2 2 24
A

&3t(A) 2 2 2 2 2 2 2 2 2 2 2 2 24

WERRE 1 1 1 1 1 1 1 1 1 1 1 1 12
=
E 4= A= £f
=] (B -IE5%) 1 1 1 1 1 1 1 1 1 1 1 1 12
A

&31(B) 2 2 2 2 2 2 2 2 2 2 2 2 24

Fzm(A-B) 0 0 0 0 0 0 0 0 0 0 0 0 0

X HEEEBOABTIEICEHL TS0,




N2 FHE #H=ET (2026%F)

FEALEHILY —E R s H R EBE

FEE  TUATLOICEHERERI SR

(Bf7 : AF)
E£EFBONS |BiREA
5H 68 78 8 H 9H 1048 114 124 18 28 38 42| &Gt

N FIRERAE 6 A 6 A 6 A 6 A 6 A 6 A 6 A 6 A 6 A 6 A 6 A 6 A
é A EERENTRBUNA 3 3 3 3 3 3 3 3 3 3 3 3 36
A

&3H(A) 3 3 3 3 3 3 3 3 3 3 3 3 36

WERRE 1 1 1 1 1 1 1 1 1 1 1 1 12
=
E 4= A= £f
=] (B -IE5%) 2 2 2 2 2 2 2 2 2 2 2 2 24
A

&31(B) 3 3 3 3 3 3 3 3 3 3 3 3 36

Fzm(A-B) 0 0 0 0 0 0 0 0 0 0 0 0 0

X HEEEBOABTIEICEHL TS0,




